Domaci tkol ¢. 3

Zadano: 22. a 24. 10.
Deadline: 6. 11. a 31. 10.

1. Najdéte limitu

. cotg (a+ 2x) — 2cotg (a + x) + cotga
lim
x—0 1’2

kde a € R, sina # 0.

Y

Hint: Puzijte chytie vzorec pro cotg A — cotg B a néasledné v prubéhu
vypoctu i sin A — sin B

2. Najdéte limitu

lim (tgz)®%.
=7
Reseni
1.
. cotg (a+ 2x) — 2cotg (a + ) + cotga
lim =
z—0 2
B Y cotg (a + 2x) — cotg (a + ) + cotga — cotg (a + x)
— xg% = —
N sin(B — A)
= pouZijeme cotgA — cotgB = ————+-
sin B sin A

L <Sin( sin(—z) L sin@) ):

20 12 a+2z)sin(a+x)  sin(a)sin(a 4 x)
1 —sin(z)sin(a) + sin(z) sin(a + 2z)

- lim —
200 72 sin(a + 2x) sin(a + z) sin(a)
_ lim sin(x) lim — '1 ‘ lim sin(a + 2x) — sin(a) _
x>0 x 2—0sin(a + 2z)sin(a + z) sin(a) =—0 x
1 i 2x) — si
_ EEST sin(a + 2x) — sin(a) _
sin’(a) =—0 x
A+B . A-B
= pouzijeme sin A — sin B = 2 cos 5 sin 5 ’
1 . 2cos(a+x)sin(z)  2cos(a)
= —— lim = —
sin”(a) @0 x sin®(a)



lim (tgz)®? =
=7

= lim exp (tg 2z Intgx) =

jus
$*>4

= exp lim (tg2zIntgr) =

$—)Z
Int
= expg}ij% (tg Qx%(tgx — 1)) =
Int
= exp lim 18T im (tg2x(tgr — 1)) =

=7 tgl’ -1 =7

. 2sinxcosx SINx — coST
= exp lim - =
i 2 2
z—% \ cos? x — sin“ x cosx
. —2sinx 1
= exp lim [ ————— | = exp(—1) = -
z—=5 \ COST +sinx e



